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9 The diagram shows the position of a block of ice as it moves down a smooth ramp that is

1.60

m long.

he o .

H

Which graph best represents the motion of the block of ice on the ramp?
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Wire
with no
current

Wire T Current

Compass Compass

Before 1820 magnetism and electricity were believed to be different types of forces caused

by different physical processes. In 1820 Hans Christian @rsted conducted an experiment with
compasses and wire. The diagram above shows the results of his experiment. This experiment
was important because it —

F showed how to make a compass point in a direction other than north
G was the first to show electric current flowing in a straight wire
H

showed that electricity and magnetism are related

(]

proved that magnetism is an extremely weak force compared with electricity

11 A student pushed a box 27.0 m across a smooth, horizontal floor using a constant force of
113 N. If the force was applied for 9.00 s, how much power was developed, to the nearest
watt?

Record your answer and fill in the bubbles on your answer document.
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